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Percent Explanations 
 

 

The basic equation of percents: 
𝑃𝑎𝑟𝑡

𝐵𝑎𝑠𝑒
=

𝑅𝑎𝑡𝑒%

100
 

Abbreviated form: 
𝑃

𝐵
=

𝑅%

100
 

 

Example: 
7

8
=

87.5%

100
 

 

To find out if this right: 

Check for equivalence: 

7 × 100 = 700 

8 × 87.5 = 700 

 

 

For percent problems, there are three elements: 

𝑃 

𝐵 

𝑅% 

To work a percent problem, you must know two of these, then solve for the third. 

} Equivalent 
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To solve for P:   

𝑃 =  
𝐵 × 𝑅%

100
 

 

 

To solve for B: 

𝐵 =  
𝑃 × 100

𝑅%
 

 

 

 

To find R%: 

𝑅% =  
𝑃 × 100

𝐵
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Examples: 
 

To solve for P:   
40% 𝑜𝑓 65 𝑖𝑠 𝑤ℎ𝑎𝑡 𝑛𝑢𝑚𝑏𝑒𝑟? 

 

𝑅%  𝐵  𝑃 is the missing thing 

 

 

 

𝑃 =  
𝐵 × 𝑅%

100
 

𝑃 =  
65 × 40%

100
 

=  
2600

100
 

 

𝑃 = 26 

  

“of” points to the Base 
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To solve for R%:   
𝑊ℎ𝑎𝑡 𝑝𝑒𝑟𝑐𝑒𝑛𝑡 𝑜𝑓 400 𝑖𝑠 80? 

 

         

𝑅% the missing thing  

 

 

𝑅% =  
𝑃 × 100

𝐵
 

𝑅% =  
80 × 100

400
 

=  
8000

400
 

 

𝑅 = 20% 

 

  

“of” points to the Base 

𝐵 

𝑃 
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To solve for B:   
45% 𝑜𝑓 𝑤ℎ𝑎𝑡 𝑛𝑢𝑚𝑏𝑒𝑟 𝑖𝑠 90? 

         

𝑃  

 

 

 

𝐵 =  
𝑃 × 100

𝑅%
 

𝐵 =  
90 × 100

15%
 

=  
9000

15%
 

 

𝐵 = 60 

 

 

 

“of” points to the Base; which we are having to solve for. 

 

 

𝐵 =? 

 

𝑅% 


